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I. Improve the existing situation 

II. Find the best strategy that reduces total negative 
impacts in the model:

• Pollution 

• Sediment inflows

• Water treatment costs

• Industrial demand deficit 

• Domestic water demand deficit

• Irrigation water demand deficit 



1. Assess the challenges for the 
case study area 

2. Select best impact reduction 
strategies thru collaborative 
work 
 maximum 3 measures

3. Simulate actions in the model 
and review results

Measure 11:
 Can be combined with measures 

2, 5, 8 and 10
 Reduces impacts by an 

additional 5%


